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A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.
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A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

How many persons sit between G and B?

(1) One

(2) Three

3) Two

(4) Four

(5) None of these
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A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

Who among the following pairs of persons sits

at extreme ends?

MHAG

2) B, C

QB)F,H

4H A

(5) None of these
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A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

Who sits second to the right of E?

(1B

2)H

A G

4 C

(5) None of these
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A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

Who sits third to the left of G?

(DA

(2) None

Q) F

4D E

3B
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A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

Who sits immediate to the left of C?

(DA

2)H

3G

@D

(5) None of these
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There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

TS TR & 31erid J, K, L, M, N, O, P 3R QI 3 uTH, 313, 0
3 ST 3% TR T 2 STeTT-3TeTT AT 15 31 22 St ST
A B TAF THER Hdel Teh STEIT odT € Ik ari. K
oo ariE 31k 30 %mﬁﬁﬁw%% K & UgeA
foTT 77U STt Rt WAt P ok &g foTe TU Waﬁm%
a2 L 37’ O 91 Uk ‘zﬁﬂ‘éﬁﬁw &, Tifehd
n%ﬁmm%rqﬁ%lgj_?moaﬁiM HT BT, wﬁoésaﬁ
HF AT 2 K 3R Q % sfier 21T &, S areh mer o
giaaﬂ%"rﬁ‘cn%l P 3R N & st=r di= @ 31feres sarea fero o
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There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

How manylectures are takenbetween O andJ?

(1) One

(2) Two

(3) Three

(4) Four

(5) None of these
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There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

Who among the following professors takes lectureonlS May?
1 Q

2L

M

@Jd

(3N
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There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

Who among the following pair of professors takes lectures in
the month of April?

() Land P

(2) Oand Q

(3) L and O

GRENLES,

(5) Either (1)or (3)
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There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

How many lectures are taken before Q?

(1) One

(2) Two

(3) Three

(4) More than three

(5) None
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There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

Who among the following group take lectures

on the month having 31 days?

(1) POM

(2) JPK

(3) NMQ

(4) MNP

(3) PLQ
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In a certain code language, ‘SHYAM’ is coded as
‘572475339°. How will ‘MOHAN’ be coded as in that
language?

U (T2 e AT, 'SHYAM' S '572475339' &
wﬁmﬁwmm%l 39 HIETH '"MOHAN' &t
ﬁwwmﬁmmv

(1) 394524342

(2) 394543342

(3) 395443442

C)RELRLYRY:Y)

(5) None of these

<Z @Reasoningbybasantsir
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Ravi walks 9 km towards the west then he turns

right and walks 7 km. Again he turns right and

walks 5 km. Now, he turns left and walks 9 km. In

which direction and how far is he from his starting
point?

T%Qfﬂwsﬁaﬁwﬁsﬁaﬁm%ﬁﬂa%mm%
371X 7 TRt <retaT 81 e o & 27U weaT £ o7 5 fRe
AT g A, 9 AT m?ngm%agﬁwﬁm%aﬁm%l
Wmmﬁaﬁﬁﬁqmﬁ 3 fomaft 22
(1) 16.49 km, North-west

(2) 11.29 km, South

(3) 12.09 km, East

(4) 10.19 km, South-east

(5) None of these
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In a certain code language,
manager should go office is written as la ta ja sa
on time at sharp manager is written as ja para da
Professional should go on time is written as da ta fa la

What is the code for ‘at’?
(Dra

(2) pa

(3) Either ra or pa

(4) da

(5) None of these

<Z @Reasoningbybasantsir
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In a certain code language,
manager should go office is written as la ta ja sa
on time at sharp manager is written as ja para da
Professional should go on time is written as da ta fa la

Which of the following is the code for professional
(1) ta

(2) da

3)1a

(4) fa

(5) None of these

<Z @Reasoningbybasantsir
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In a certain code language,
manager should go office is written as la ta ja sa
on time at sharp manager is written as ja para da
Professional should go on time is written as da ta fa la

What does ‘ta’ stand for?
(1) Manager

(2) office

(3) professional

(4) Ontime

(5) None of these

<Z @Reasoningbybasantsir
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358, 523, 552, 461, 631

If all the digits of number are arranged in ascending
order within the number, then which of the following
is the 2nd lowest number?

T TEAT & GHT 3t o G&AT & Hia AE Ha |
sgaferd feram wmg, af freferiaa o & gad aea siet
AT BT HY 2?2

(1) 358

(2) 461

3) 523

4) 631

(5) None of these
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358, 523, 552, 461, 631

If the 3rd digit of the second number from the left
end is multiplied by the 2nd digit of the 2nd number
from the right then what will be the resultant?

s ATE SR A ORI HEAT ok A6 37 i a5 AR A
O ST % T 3ieh & TuT R T At aiuTe
T2

1) 21

2) 30

(3) 18

4) 6

(5) None of these
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358, 523, 552, 461, 631

If 2 is subtracted from the first digit of each number
and 1 is subtracted from the third digit of each
number then which of the following will be the
second-highest number?

Tfe Ui AT & Uge 3ich ¥ 2 UTAT WU 31 Ucdih
AT o 1 37k O 1 9T A1 at iefeRga o o
i ©Y TE ATH aE WA B

(1) 523
(2) 461
(3) 552
4) 631
(5) 358
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358, 523, 552, 461, 631

If the first and third digits of every number are
interchanged then which of the following is the third
lowest number?

T Tceh EAT o U TR 19X 37eh Rl ATqA |
ga e sTe ar Fefeiaa # 9 < a9 oiet
T i ET 22

(1) 358
(2) 552
(3) 523
(4) 461
(5) 631
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358, 523, 552, 461, 631

If the second and third digits of every number are
interchanged then find the difference of the highest
and smallest number.

Ife ek AT & T TR dIEX 37 i 3T § 98
fara ATg A TR TSt SR T BIE T wT S AT
S
(1) 128
2) 328
(3) 228
(4) 127
(5) 28
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A,2,C,4,E, 6, G and 8 are sitting around a circular
table andfacing towards the centre. G is sitting third
to the right of 6. 8 is not an immediate neighbour of
6 and G. A sits second to the right of 8. 2sits third to
the right of C and C is not an immediate neighbour
of G. 4 is not an immediate neighbour of 8 and C.

A,2,C,4,E, 6,G 3T 8 Ueh MAThRT WS o AR TR
ﬁﬁzﬁaﬁ'{waﬂﬁ;a%%l G, 6 % IT AT AT T
W AST 21 8, 6aﬁ'{szﬁqu3ﬁ'a°r=l%'T%lA 8%
aéaﬁ'{m’{wmm%l 2, C % T8 A B T W E
3R C, Gaﬁrﬁwqaﬁﬁﬂﬁ%lsaﬁ'{cwﬁw
)
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A,2,C,4,E, 6, G and 8 are sitting around a circular
table andfacing towards the centre. G is sitting third
to the right of 6. 8 is not an immediate neighbour of
6 and G. A sits second to the right of 8. 2sits third to
the right of C and C is not an immediate neighbour
of G. 4 is not an immediate neighbour of 8 and C.
Who sits exactly between 8 and A?

(1) 2

2)G

A3)C

4) E

(5) None of these
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A,2,C,4,E, 6, G and 8 are sitting around a circular
table andfacing towards the centre. G is sitting third
to the right of 6. 8 is not an immediate neighbour of
6 and G. A sits second to the right of 8. 2sits third to
the right of C and C is not an immediate neighbour
of G. 4 is not an immediate neighbour of 8 and C.
Four of the following five are alike in a certain way
based on their seating positions in the above
arrangement and so form a group. Which one does
not belong to the group?

(1) 6, 4

(2)8,G

3)6,C

4)2,G

S E, A



IBPS 2024 Practice

A,2,C,4,E, 6, G and 8 are sitting around a circular
table andfacing towards the centre. G is sitting third
to the right of 6. 8 is not an immediate neighbour of
6 and G. A sits second to the right of 8. 2sits third to
the right of C and C is not an immediate neighbour
of G. 4 is not an immediate neighbour of 8 and C.
What will come in place of the question mark (?)
based upon the given seating arrangement? A 6, 4 G,
CA,?
(1)8C
2)4G
B)GE
4)24
S)ES

' @Reasoningbybasantsir
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A,2,C,4,E, 6, G and 8 are sitting around a circular
table andfacing towards the centre. G is sitting third
to the right of 6. 8 is not an immediate neighbour of
6 and G. A sits second to the right of 8. 2sits third to
the right of C and C is not an immediate neighbour
of G. 4 is not an immediate neighbour of 8 and C.
How many persons sit between 2 and E starting
from 2 in an anti-clockwise direction?

(1) One

(2) Two

(3) Three

(4) Four

(5) None
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A,2,C,4,E, 6, G and 8 are sitting around a circular
table andfacing towards the centre. G is sitting third
to the right of 6. 8 is not an immediate neighbour of
6 and G. A sits second to the right of 8. 2sits third to
the right of C and C is not an immediate neighbour
of G. 4 is not an immediate neighbour of 8 and C.
What is the position of E with respect to A?

(1) Third to the left

(2) Third to the right

(3) Second to the left

(4) Second to the right

(5) Immediate left.
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Eight friends M, R, S, A, P, H, K and B are sitting around a
square table in such a way that four of them sit at four
corners of the square while four sit in the middle of each of
the four sides. The one who sit at the four corners facing the
centre while those who sit in the middle of the sides facing
outside. B sits second to the right of S. B does not sit at any
of the corners. M sits third to the right of P. P is not an
immediate neighbour of S. R and K are immediate
neighbours of each-other but R does not sit at any of the

corners of the table. H is neither an immediate neighbour of
P nor S.
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Eight friends M, R, S, A, P, H, K and B are sitting around a
square table in such a way that four of them sit at four
corners of the square while four sit in the middle of each of
the four sides. The one who sit at the four corners facing the
centre while those who sit in the middle of the sides facing
outside. B sits second to the right of S. B does not sit at any
of the corners. M sits third to the right of P. P is not an
immediate neighbour of S. R and K are immediate
neighbours of each-other but R does not sit at any of the
corners of the table. H is neither an immediate neighbour of
P nor S.

Four of the following five are alike in a certain way and so
form a group. Which is the one that does not belong to that
group?

(HP

2)R

B3 H

4)S

5)B
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Eight friends M, R, S, A, P, H, K and B are sitting around a
square table in such a way that four of them sit at four
corners of the square while four sit in the middle of each of
the four sides. The one who sit at the four corners facing the
centre while those who sit in the middle of the sides facing
outside. B sits second to the right of S. B does not sit at any
of the corners. M sits third to the right of P. P is not an
immediate neighbour of S. R and K are immediate
neighbours of each-other but R does not sit at any of the
corners of the table. H is neither an immediate neighbour of
P nor S.

Who sits third to the left of A?

(1)B

2)R

3)S

4)P

(5) Cannot be determined
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Eight friends M, R, S, A, P, H, K and B are sitting around a
square table in such a way that four of them sit at four
corners of the square while four sit in the middle of each of
the four sides. The one who sit at the four corners facing the
centre while those who sit in the middle of the sides facing
outside. B sits second to the right of S. B does not sit at any
of the corners. M sits third to the right of P. P is not an
immediate neighbour of S. R and K are immediate
neighbours of each-other but R does not sit at any of the
corners of the table. H is neither an immediate neighbour of
P nor S.

What is the position of P with respect to M?

(1) Immediate left

(2) Second to the left

(3) Third to the left

(4) Third to the right

(5) Second to the right
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Eight friends M, R, S, A, P, H, K and B are sitting around a
square table in such a way that four of them sit at four
corners of the square while four sit in the middle of each of
the four sides. The one who sit at the four corners facing the
centre while those who sit in the middle of the sides facing
outside. B sits second to the right of S. B does not sit at any
of the corners. M sits third to the right of P. P is not an
immediate neighbour of S. R and K are immediate
neighbours of each-other but R does not sit at any of the
corners of the table. H is neither an immediate neighbour of
P nor S.

Who amongst the following sits second to the right of K?
(1S

2) A

RN

4)H

oM
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Eight friends M, R, S, A, P, H, K and B are sitting around a
square table in such a way that four of them sit at four
corners of the square while four sit in the middle of each of
the four sides. The one who sit at the four corners facing the
centre while those who sit in the middle of the sides facing
outside. B sits second to the right of S. B does not sit at any
of the corners. M sits third to the right of P. P is not an
immediate neighbour of S. R and K are immediate
neighbours of each-other but R does not sit at any of the
corners of the table. H is neither an immediate neighbour of
P nor S.

Who amongst the following sit(s) exactly between P and A?
(1) Only B

(2) Kand R

(3) Only H

4 Hand M

(5) No one sits between P and A
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If each vowel in the word "RESERVATION" is changed to
the next vowel in the English alphabetical series and each
consonant is changed to the next consonant in the English
alphabetical series, then which among the following will be
sixth from the right?

Ife 31sg "RESERVATION" ¥ Uedeh TaR i STt quiare
SRGAT H A T H TS T3 AT 7 AR Tedeh sda ohl
SISt TUTHTEAT ST § STt S § Jaet f&an AT &, A
frferRam & & @i 21 & weT AT

1O

2)V

Q) E

4)S

) W
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Six persons Ravi, Rakesh, Ram, Ramu, Rahim and Raja all
are sitting in a row, facing towards the South direction. All
like different cars as Figo, Skoda, Pajero, Safari, Zen and
Alto (Not necessarily in the same order). Ram and Ramu are
not sitting at an end of the row and like Skoda car and
Safari car respectively. The person who likes Pajero car is
sitting at the left end of the row. Raja is sitting third to the
left of Ravi and second to the right of Rakesh. Raja likes
Alto car. Rahim is sitting just left to Ram and Ravi does not
like Zen car.

aferor FroTT <Y 3T TR e S §| At T ST STERT Bl

foR 3ET ShW W )| T 3T T Uitk o ToREl B W A€ 918 § 3l

3¢ ShUTT: ThIST &I IR A I yHe gl e st ot aem

TR THE & T8 Ufth oh 91 B UT 93T 21 TSAT, I o art 31

O 37X ThyT o T 3T X €UTT UX 8T §| TS i SATeel

HR UHE Tl T, TH o Steh aT0 3T 7 AR AT Bl T HR UEE
|

e
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Six persons Ravi, Rakesh, Ram, Ramu, Rahim and Raja all
are sitting in a row, facing towards the South direction. All
like different cars as Figo, Skoda, Pajero, Safari, Zen and
Alto (Not necessarily in the same order). Ram and Ramu are
not sitting at an end of the row and like Skoda car and
Safari car respectively. The person who likes Pajero car is
sitting at the left end of the row. Raja is sitting third to the
left of Ravi and second to the right of Rakesh. Raja likes
Alto car. Rahim is sitting just left to Ram and Ravi does not
like Zen car.

Which of the following persons is/are sitting at the right end
of the row?

(1) Rakesh

(2) Raja

(3) Ram

(4) Ravi

(5 Ramu
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@Reasoningbybasantsir

Six persons Ravi, Rakesh, Ram, Ramu, Rahim and Raja all
are sitting in a row, facing towards the South direction. All
like different cars as Figo, Skoda, Pajero, Safari, Zen and
Alto (Not necessarily in the same order). Ram and Ramu are
not sitting at an end of the row and like Skoda car and
Safari car respectively. The person who likes Pajero car is
sitting at the left end of the row. Raja is sitting third to the
left of Ravi and second to the right of Rakesh. Raja likes
Alto car. Rahim is sitting just left to Ram and Ravi does not
like Zen car.

Which of the following persons likes Figo car?

(1) Ramu

(2) Rahim

(3) Ravi

(4) Rakesh

(5) Raja
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Six persons Ravi, Rakesh, Ram, Ramu, Rahim and Raja all
are sitting in a row, facing towards the South direction. All
like different cars as Figo, Skoda, Pajero, Safari, Zen and
Alto (Not necessarily in the same order). Ram and Ramu are
not sitting at an end of the row and like Skoda car and
Safari car respectively. The person who likes Pajero car is
sitting at the left end of the row. Raja is sitting third to the
left of Ravi and second to the right of Rakesh. Raja likes
Alto car. Rahim is sitting just left to Ram and Ravi does not
like Zen car.

What is the position of that person who likes Skoda car?

(1) Fifth from the right end

(2) Second from the right end

(3) Third from the right end

(4) Second from the left end

(5) In the middle of the row
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' @Reasoningbybasantsir

Six persons Ravi, Rakesh, Ram, Ramu, Rahim and Raja all
are sitting in a row, facing towards the South direction. All
like different cars as Figo, Skoda, Pajero, Safari, Zen and
Alto (Not necessarily in the same order). Ram and Ramu are
not sitting at an end of the row and like Skoda car and
Safari car respectively. The person who likes Pajero car is
sitting at the left end of the row. Raja is sitting third to the
left of Ravi and second to the right of Rakesh. Raja likes
Alto car. Rahim is sitting just left to Ram and Ravi does not
like Zen car.

What is the position of Raja with respect to Rahim?

(1) Just left

(2) Just right

(3) Second to the left

(4) Second to the right

(5) Third to the left
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Six persons Ravi, Rakesh, Ram, Ramu, Rahim and Raja all
are sitting in a row, facing towards the South direction. All
like different cars as Figo, Skoda, Pajero, Safari, Zen and
Alto (Not necessarily in the same order). Ram and Ramu are
not sitting at an end of the row and like Skoda car and
Safari car respectively. The person who likes Pajero car is
sitting at the left end of the row. Raja is sitting third to the
left of Ravi and second to the right of Rakesh. Raja likes
Alto car. Rahim is sitting just left to Ram and Ravi does not
like Zen car.

Which of the following persons is/are neighbour of Rakesh?
(1) Ravi

(2) Ram

(3) Rahim

(4) Raja

(5 Ramu
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Statements:

Some T are L.

Some L are F.

All F are N.

Some N are S

Conclusions:

I. Some L are S.

II. Some S being T is a possibility.
II1. Some F not being N is a possibility.

(1) Only I and II follow
(2) Only I and III follow
(3) Only II and III follow
(4) All I, II and III follow
(5) None of these
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Statements:

Some T are L.

Some L are F.

All F are N.

Some N are S

Conclusions:

I. Some L are N.

II. Some S are not L.

III. Some T being L is a possibility.

(1) Only I and II follow
(2) Only II and III follow
(3) Only I follows

(4) All, 1, IT and III follow
(5) None of these
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Statements:

Some T are L.

Some L are F.

All F are N.

Some N are S

Conclusions:

I. Al N are F.

II . Some S are N.

III. Some L being S is a possibility.

(1) None follows

(2) Only I follows

(3) Only II follows

(4) Only III follows

(5) Only II and III follow
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Statements:

Some C are W.

Some W are D.

All D are B.

Some B are A.
Conclusions:

I. AIl W are B.

I1. Some A being C is a possibility.
II1. Some D are B.

(1) None follows

(2) Only I follows

(3) Only 11 follows

(4) Only I1I follows

(5) Only II and III follow
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Statements:

Some C are W.

Some W are D.

All D are B.

Some B are A.
Conclusions:

I. Some B are W.

II. Some C are D.

III. No A is a C.

(1) Only II and III follow
(2) Only I and II follow
(3) Only I and III follow
(4) All L, IT and 111 follow
(5) None of these
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Once upon A Time is written as chl ch2 ch3 ch4
Time was in Lucknow is written as ch4 chS ch6 ch7

Once in A Lucknow is written as ch7 chl ché6 ch3
Lucknow was upon Sultaan is written as ch2 chS ch9 ch7

How will 'Sultaan® be written in that code language?

(1) ch7

(2) ch9

(3) ch5

(4) Can't be determined
(5) None of these

<Z @Reasoningbybasantsir
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Once upon A Time is written as chl ch2 ch3 ch4
Time was in Lucknow is written as ch4 ch5 ché6 ch7/
Once in A Lucknow is written as ch7 chl ché6 ch3

Lucknow was upon Sultaan is written as ch2 chS ch9 ch?7

What will be the words for the code of 'ch2 ch5' in that
code language?

(1) Upon was

(2) Time was

(3) A Time

(4) Can't be determined
(5) None of these

<Z @Reasoningbybasantsir
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Once upon A Time is written as chl ch2 ch3 ch4
Time was in Lucknow is written as ch4 chS ch6 ch7

Once in A Lucknow is written as ch7 chl ché6 ch3
Lucknow was upon Sultaan is written as ch2 chS ch9 ch?7

What will be the code for 'Lucknow’ in that code language?

(1) ch7

(2) choé

(3) ch4

(4) Can't be determined
(5) None of these

<Z @Reasoningbybasantsir
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Once upon A Time is written as chl ch2 ch3 ch4
Time was in Lucknow is written as ch4 chS ch6 ch7

Once in A Lucknow is written as ch7 chl ché6 ch3
Lucknow was upon Sultaan is written as ch2 chS ch9 ch?7

What will be the code for 'In' in that code language?

(1) ch3
(2) chS
(3) ch7
(4) ch4
(5) None of these

@Reasoningbybasantsir
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